CHAPTER 17
PE RATIOS AND EARNINGS GROWTH


LEARNING OBJECTIVES
[bookmark: _GoBack]
1. How expected earnings growth affects price/earnings ratios.
2. Why we distinguish between supernormal and long-term growth rates.
3. How to use the price/earnings to growth ratio to adjust for supernormal growth differences.

TRUE/FALSE QUESTIONS

1. When the PE ratio is used in a multiples-based valuation, earnings is the value driver.
(easy, L.O. 1, Section 1, true)

2. One of the most influential factors on the PE ratio is stock market volatility.
(moderate, L.O. 1, Section 1, false)

3. The analyst must assume that earnings and cash flow are equal to isolate the effect of expected earnings growth on the PE ratio.
(moderate, L.O. 1, Section 1, true)

4. There are only a finite number of variations in earnings growth patterns.
(moderate, L.O. 2, Section 1, false)

5. Failures to closely match on expected earnings growth or adjust for the effects of differences in expected earnings growth on the PE ratio in some way will result in a potentially large valuation error.
(moderate, L.O. 2, Section 1, true)

6. It can be graphically shown that the PE ratio changes little with varying degrees of supernormal earnings growth expectations.
(difficult, L.O. 2, Section 1, false)

7. If a company being valued that has an 20% expected supernormal growth rate is compared with a firm that has a 30% expected supernormal growth rate, a significant valuation error will occur.
(difficult, L.O. 2, Section 1, true)

8. Because the supernormal growth rate affects the PE ratio, the analyst must control for it in any PE analysis.
(moderate, L.O. 3, Section 2, true)

9. One way analysts attempt to achieve comparability is to match on industry; however, there can be a wide range of growth expectations across firms within the same industry.
(moderate, L.O. 3, Section 2, true)

10. A firm that invests heavily in research and development may have lower current earnings but will likely have higher earnings growth expectations.
(moderate, L.O. 3, Section 2, true)

11. With the simple PE approach, the analyst does not estimate growth rates of the two firms because it is explicitly assumed that the two firms’ growth rates are the same.
(moderate, L.O. 3, Section 2, false)

12. The PEG ratio will be useful for valuing otherwise comparable firms with different sustainable growth rates as long as it is roughly constant across the different values of supernormal growth.
(moderate, L.O. 3, Section 2, false)

13. The PEG ratio is more accurate then the PE ratio in valuing low-growth firms.
(easy, L.O. 3, Section 2, false)

14. Although many analysts use the PEG ratio for the valuation of comparable firms, they do not define the ratio in a consistent way.
(moderate, L.O. 3, Section 2, true)

15. Because the long-term growth rate must be indefinitely sustainable, analysts expect most firms to fall in a fairly wide range, which is mutually exclusive of the long-term growth rate of the economy.
(moderate, L.O. 3, Section 2, false)


MULTIPLE CHOICE QUESTIONS

16. Because an analyst cannot match comparable firms perfectly when using the PE ratio in a multiples valuation, the analyst:
a.	matches as closely as possible and then adjusts for any differences that remain
b.	must understand how the PE ratio should behave, based on the assumption that firm value is actually the present value of expected cash flow stream
c.	will most likely choose another ratio that can be more closely compared such as market/book (MB)
d.	Answers a and b above are both correct.
(moderate, L.O. 1, Section 1, d)

17. In the PE formula used for a multiples-based valuation, the term ETARGET  is defined as the:
a.	value driver
b.	market value of the firm’s equity
c.	equity divided by earnings
d.	earnings of the comparable firms
(moderate, L.O. 1, Section 1, a)

18. There are several characteristics in which firms must be comparable in PE analysis. One characteristic that is not considered necessary in a PE analysis of comparable firms is:
a.	accounting methods
b.	industry
c.	sales volume
d.	expected growth rates
(easy, L.O. 1, Section 1, c)

19. When the analyst assumes earnings and cash flow are equal, the numerator for the PE ratio actually is the:
a.	target firm’s value driver
b.	present value of all cash flows to equityholders
c.	firm’s period one earnings
d.	Answers a and c are both correct.
(moderate, L.O. 1, Section 1, b)


20. When the analyst assumes earnings and cash flow are equal in working with the PE ratio, the higher the expected growth in the earnings series, the:
a.	lower the PE
b.	higher the PE
c.	PE will remain unchanged because the firm’s value is relative to current period earnings
d.	None of the above answers are correct.
(moderate, L.O. 1, Section 1, b)

21. To use the PE ratio in a multiples analysis, the analyst must somehow simplify the analysis of the firm’s earnings growth. This is achieved by:
a. breaking the earnings series into two parts, supernormal and sustainable
b. assuming that the firm’s value is relative to its current earnings in the short run
c. using only the just barely sustainable rate of growth for the firm in the PE calculation
d. using only the firm’s earnings during the first year in the PE calculation
(moderate, L.O. 2, Section 1, a)

22. When the analyst uses a two-period model for the PE ratio, the firm’s earnings cannot be expected to exactly follow the assumed pattern. However, the model still captures an important aspect of earnings expectations:
a. high-growth firms will never exceed the just barely sustainable rate of growth in the long run
b. using only the just barely sustainable rate of growth for a high-growth firm will not distort comparability in the multiples valuation
c. high-growth firms will most likely continue to grow indefinitely
d. high-growth firms cannot sustain their growth levels indefinitely
(difficult, L. O. 2, Section 1, d)

23. In the two-period model used for a firm’s PE ratio, the numerator is the value of the firm’s equity, which is the sum of the:
a. value of earnings during the first year for the firm
b. value of earnings during the supernormal growth period
c. value of earnings during the normal growth period
d. value of earnings during the supernormal growth period plus the value of earnings during the normal growth period
(moderate, L.O. 2, Section 1, d)

24. In the two-period model used for a PE ratio, the value of earnings during the supernormal period becomes a growing __________ while the value of earnings during the normal growth period become a growing __________.
a. annuity; perpetuity
b. annuity; annuity
c. perpetuity; annuity
d. perpetuity; perpetuity
(moderate, L.O. 2, Section 1, a)

25. One way in which analysts attempt to find comparable firms with similar growth prospects is to match on industry. A drawback to using this approach is:
a.	different corporate strategies within the same industry sector may result in different earnings growth expectations
b.	two economically identical firms could report very different earnings amounts if they made different accounting choices
c.	Answers a and b are both correct.
d.	None of the answers above are correct.
(moderate, L.O. 3, Section 2, c)

26. The PEG ratio is useful in adjusting for supernormal growth rate differences because:
a.	it assumes the ratio of the PE to the growth rate are equal across firms
b.	it assumes PE ratios are equal across firms
c.	the analyst need not estimate growth rates
d.	All of the above answers are correct.
(moderate, L.O. 3, Section 2, a)

27. Using the PEG ratio, an analyst can estimate the appropriate PE ratio for the target firm with the following equation:
a.	PEGCOMP · gSN TARGET · ETARGET
b.	gSN TARGET  / ETARGET
c.	PEGCOMP / gSN TARGET
d.	PEGCOMP · gSN TARGET 
(difficult, L.O. 3, Section 2, a)

28. The PEG ratio is useful to the analyst since it significantly reduces the error caused by selecting:
a.	firms with different sales volume
b.	firms in low-growth industries
c.	comparable firms with different growth rates
d.	firms with different market/book ratios
(moderate, L.O. 3, Section 2, c)

29. An analyst should be aware of differences in the supernormal growth rate of firms when using the PEG or PE ratio. Which statement below is incorrect regarding supernormal growth rates and PEG or PE ratios?
a.	When supernormal growth rates are high, the PEG is very sensitive to earnings growth.
b.	When supernormal growth rates are low, PEG is very sensitive to earnings growth.
c.	When supernormal growth rates are high, the PE is very sensitive to earnings growth.
d.	When growth rate differences are high, the PEG ratio is almost completely insensitive to such differences.
(difficult, L.O. 3, Section 2, a)

30. An industry in which the PEG ratio may be prone to a large valuation error is:
a.	a high-tech software firm
b.	a worldwide retailer
c.	an electric utility
d.	a manufacturer of PCs
(moderate, L.O. 3, Section 2, c)

31. Assume that an analyst is using the PEG ratio as part of a multiples analysis. The analyst chooses to ignore earnings rate growth differences when the sensitivity to them is high and chooses a comparable firm with a substantially different growth rate. The analyst will get:
a.	better results using the PE ratio.
b.	a serious valuation error
c.	a very slight valuation error
d.	no valuation error
(moderate, L.O. 3, Section 2, b)

32. Actual data confirm that:
a.	PE ratios are more appropriate in low growth rate situations
b.	either PE or PEG ratios are appropriate in low growth rate situations
c.	PEG ratios are appropriate in higher supernormal growth situations
d.	Answers a and c are both correct.
(easy, L.O. 3, Section 2, d)

33. Regarding the long-term growth rate, analysts:
a.	should attempt to adjust for differences in comparable firms by adjusting the multiple
b.	should attempt to adjust for differences in comparable firms by adjusting the value driver
c.	need not match or adjust for differences since most firms fall into a fairly narrow range close to the long-term growth rate of the economy
d.	should attempt to adjust for differences in comparable firms by refining the multiple
(moderate, L.O. 3, Section 2, d)

34. A pitfall in PEG analysis is:
a.	the ratio must be adjusted for the long-term growth rates of comparable firms
b.	the way the ratio is defined will affect its desirability as a valuation tool
c.	the ratio produces a serious valuation error when used in higher supernormal growth rate situations
d.	None of the answers above are correct.
(moderate, L.O. 3, Section 2, b)

35.	An analyst considering the use of PEG analysis must consider that:
a.	historical data are far more accurate than the use of such a forward-looking analysis tool
b.	the ratio actually controls for differences in growth only if it is roughly constant across growth rates
c.	the PE ratio is more popular because it is easier to use and provides information that is as accurate as the PEG ratio
d.	None of the above answers are correct.
(moderate, L.O. 3, Section 2, b)



ESSAYS

36.	Explain the impact of growth on the price/earnings (PE) ratio.

Suggested solution:

One key problem in using PE analysis for a multiples valuation is that of differences in the growth rates of the comparable and target firms. Firms that have different growth rates will not have the same PE ratio. Hence there is need for adjusting the analysis to account for this difference when using the PE ratio.

A firm that has a higher expected growth rate will have a higher PE ratio. This is because a greater proportion of the firm’s value comes from future periods. Although there are an almost infinite number of variations in earnings growth patterns, analysts assume a two-part earnings series for the PE ratio: a short-term period of supernormal growth, followed by a long-term period of sustainable growth. This model is not perfect but it does reflect an important aspect to earnings expectations: high-growth firms cannot sustain their growth levels indefinitely.

The value of earnings during the supernormal growth period plus the value of earnings during the normal growth period become the numerator in the PE ratio formula. The denominator is the earnings for the first year of the firm. The first component of the numerator becomes a growing annuity, while the second component becomes a growing perpetuity.
(moderate, L.O. 1, Section 1)

37.	What is the PEG ratio and how is it different from the PE ratio?

Suggested solution:

The PE ratio is highly sensitive to the supernormal growth rate, and so the analyst must control for this situation in any PE analysis. The analyst may try to match comparable firms based on industry; however firms within a given industry may have very different future growth rates. To provide for such differences, the PE-to-growth ratio (or PEG ratio) allows an analyst to factor the differences in growth rates into a PE analysis.

A key difference between the PEG and PE ratio is that the PEG ratio assumes the ratio of the PE to growth rate is the same across firms. This allows PE ratios to vary with growth. The PEG ratio is useful in valuing otherwise comparable firms with different supernormal growth rates as long as it is roughly constant across the different values for supernormal growth. The PEG ratio significantly reduces the error caused by selecting comparable firms with different growth rates. This allows the analyst to move forward and select firms using some other criteria (such as industry), since the analyst is no longer limited to comparing firms with similar growth rates.
(moderate, L.O. 2 & 3, Section 2)


38.	What are the limitations and shortcomings of using the PEG ratio?

Suggested solution:

The PEG ratio has several limitations and shortcomings when used in a PE analysis. The PEG ratio is not helpful in evaluating firms in low-growth industries such as electric utilities or food manufacturing. The PEG ratio is highly sensitive to a low supernormal growth rate. When a PEG ratio is used in such a situation, the analyst can expect a significantly larger valuation error than if the analyst uses the PE ratio. The PE ratio would work better in this case.

The PEG ratio, when used in a valuation based on comparable firms, can suffer from several shortcomings. Although many analysts use the PEG for valuation, they do not define the ratio in a consistent manner. Some may use a long-term sustainable growth rate while others use a short-term supernormal growth rate or a historical rate. This can lead to problems with comparing PEG ratios in a valuation, because the way the PEG ratio is defined will affect its desirability as a valuation tool. The PEG ratio is a good valuation tool only if it is roughly constant across growth rates. When the PEG ratio is kept roughly constant across the spectrum of growth rates, it enables the analyst to control for differences in growth among comparable firms.
(moderate, L.O. 3, Section 2)
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